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Geometry 3313 Name )/\E»\/
12.1 Day 3 - Inverse Trigonometric Functions Practice f

12.1 Trigonometric Ratios
a. Given a right triangle, I can define the sine, cosine, and tangent ratios from an unknown angle.
b. I can use Trigonometric Ratios to solve for unknown sides and angles in a right triangle.

Answer each question.

1. Which trigonometric ratios could you use to find m«B in the right triangle below? Write two
equations to demonstrate your solution.
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2. In ACAT , sinA-:%. What is the measure of £T', assuming that ZC is the right angle?
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3. You want to find the measure of angle G in the triangle below. You type sin (g) into your

calculator. Why is this wrong? How can you correct this to find the measure of angle G?
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Use the inverse trigonometric ratios to find the missing angles. B 3 6
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mzd= 56,9 mzB=53,1° mzB= 200 meT= §3.7°



S e

S A " x * A x T . .
e 2 i S St 2 e e G Sl A e Bl S R e Rl L A L

o/ 124
16 M

6. B , € 7
anA'—' ié— }\”’ 2
20
!
A= sin”! (-z_,% ,
Az 53 o q0-53.0=3617° e cas"(% 90-37.{=52.4

mdd= S5 mi— 36.70 B 3?‘.(0 r= 5’211'/0

Solve the right triangles.
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Solve the following application problem

12. Carpentersville restricts the height of flagpoles to 25 feet on any property. Michelle
wants to determine whether D-C is in compliance with the regulation. Her eye level is 5.5
feet above the ground and she stands 36 feet from the base of the flag pole. If the angle of
elevation is 25°, what is the height of the flagpole to the nearest tenth of a foot?
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